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|i Solve equations:
25+ X = 49 Y—-251 = 301 35+7Z = 126
|i Solve equations:
24+-X =6 Y=8=6 427 =17

|i Solve equations:

4 xX= 32 Yx 8= 56 O9x Z =172




Lesson 24 A Properties of multiplication. Order of Operations

| Solve each expression using the correct order of operations (number the operation
first):

8+2+2x 9=

30-6x4-21+-7+16+-4=

O9x5-12+6=

4%x5-(2+4x4)+2]=

25-24+6-2x3=

25-24+(6-2)x 3=

| Expand the following by removing parentheses:
3(z+6)=
28-y) =
4(a+3)=
S@4-9=
52z+9)=

2(8 —2y) =

42a+6) =

5(3-2q) =




